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. AsetSin R is said to be compact if, and only if, every open covering of S contains a finite

subcover. Show that (0,1) is not compact. (10%)

. Let {a,} beasequencein R. If lima, exists, showthat {a } isbounded. (15%)
H=y0

. Show that f(x)=|x] is continuous but not differentiable at x = 0. (15%)

. let {f,} beasequence of functionson D < R to Rand f be functionon D. Wesay {f,}

converges uniformly to f on Dif for every &> 0, there is N such that forall n2> N implies

I/, (@)~ f(x)<e forall xeD. (15%)
(a) Show that f, (x) = Lsin(nx) converges uniformly to 0 on D = R,

(b) Show that f, (x) =x" doesn’t converges uniformly on D =[{0l}c R.

. (&) Let f be a continuous defined on [a,b] into R.  Show that (15%)
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(b) Evalulate 4 ju ¥ sin(ryd .
dx
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(15%)
0 if (x,y)=(0,0)
(a) Show that f(x,y) 1s conlinuous at (0,0).
() Find (D, f)(x,y) forall x,ye R*.
(¢) Find (D, f)(x,y) forall x,ye R*.
. (a) Is it possible to solve (15%)

uy+vi+w+x’ =0
wwrx+y+1=0
for (x,y) intermsof (u,v,w) near (u,v,w)=(210), (x,y)=(-10).

" (b) Find -g—’i, —gl al (u,v,w) = (21,0).
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